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Kip#iELE TRICHSIMTREN KRR ES

% # s - BRHE By B il & & 1
BRI 5,154,400 + 384, 600 5,539, 000
EEAGE 5, 154, 400
EERE 384, 600
Z DR 5,154,400 x 53.85% ( 35% + (1 — 35% ) ) 2,775, 644
e AN 5,539,000 + 2,775, 644 8,314, 644
—REEEE 8,314,644 x 53.85% (35% =~ (1 — 35%) ) — 2,079 4,475, 356
E A% 8,314,644 + 4,475,356 12,790, 000
B FEZET 12,790,000 x 10.00% 1,279, 000
EBERREM 12,790,000 + 1,279,000 14,069, 000




BEARRE KRS E TECHESHTRE N ERT LS

) R Big - MAKTHE Bl % 8 B & i) Hm =
BRI 5,539, 000
MITRERAES 5,539, 000
MITRERAES 5,539, 000
MITRERAES 5,154, 400
ETEE R 433, 500
1 EHEEEE 1.00 433, 500 433, 500
=
MITR & KDRE 2,981,500
2 BHNEEE 1.00 1, 209, 600 1,209, 600
=
3 MITREX K®E 1.00 1,771, 900 1,771,900
=
ZE2DOR1E 703, 500
4 ZEREHER 1.00 288, 700 288, 700
=
5 RERNEE 2.00 207, 400 414, 800
=]
R 472, 900
6 |MESIEMR 1.00 453, 700 453, 700
=
1 AFRARERER 1.00 19, 200 19, 200
=
ek - |E 563, 000
8 EAIRE 1.00 121, 800 121, 800
=]
9 PRERE 2.00 121, 800 243, 600
=]




BEARRE KRS E TECHESHTRE N ERT LS

) R Big - MAKTHE Bl % 8 B & i) Hm =

10 &R\ E 1.00 197, 600 197, 600
=l

EEEE 384, 600

EBRARE 45,914

N EHRARE 1.00 45,914 45,914
=

LESRE 256, 362

12 ZE=RE 1.00 256, 362 256, 362
=

R 61, 000

13 EHBHER 1.00 61,000 61, 000
=

g4 21,324

14 k& 1.00 21,324 21,324
=




R &I/ \vr—2

KBE#EEETEICHESMITRENRREES

&5 1
275 FHEEE IEED
£ b3 B - BIKTE =-Fiv] = B i ® 5 w =
HEE
A 1.00 75, 800. 00 75, 800
F{EHRAm GRED
A 1.50 64, 800. 00 97, 200
HEm (A)
A 2.50 57,000. 00 142, 500
HEm (B)
A 2.50 47, 200. 00 118, 000
& Hi 1EZRERN  1.00K 433, 500. 00 433, 500
52
& BRIEERE IEED
% b R - KT BT 2 B O{f ® £ H %
HEnE
A 1.00 75, 800. 00 75, 800
FEHAR (F%E)
A 4.50 64, 800. 00 291, 600
HER (A)
A 5.00 57,000. 00 285, 000
HER (B)
A 5.50 47, 200. 00 259, 600
HER (C)
A 6.00 38, 400. 00 230, 400
Hit &
A 2.00 33, 600. 00 67,200
& it 1E%8ESN : 1.00=C 1, 209, 600. 00 1,209, 600




R &I/ \vr—2

KBE#EEETEICHESMITRENRREES

&5 .3
& MITREXFERE X4y
£ 5 1R - KTk B % 2 -] & #E & &
e E
A 3.00 75, 800. 00 221, 400
EXEETIEH))
A 71.50 64, 800. 00 486, 000
Em (A)
A 6.50 57,000. 00 370, 500
HEm (B)
A 7.00 47, 200. 00 330, 400
Em (C)
A 8.00 38, 400. 00 307, 200
B8
A 1.50 33, 600. 00 50, 400
& B 1EZRERN  1.00K 1,771, 900. 00 1,771, 900
&5 4
2 REKEHRER IEED)
% b3 1R - KTk B3 #H =2 B @ £ % i &
F{EHEm (555
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.50 57,000. 00 85, 500
HER (B)
A 1.00 47, 200. 00 47,200
HER (C)
A 1.50 38, 400. 00 57,600
Kifrg
A 1.00 33, 600. 00 33, 600
& B 1E%8ESN : 1.00=C 288, 700. 00 288, 700
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ES .5
2% FESDEE 1mEHY
£ [ R - KT B B =2 B {f £ w =
F{EHRAm GRED
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57,000. 00 57,000
HEm (B)
A 1.00 47, 200. 00 47,200
HEh (C)
A 1.00 38, 400. 00 38, 400
& Hi 1YEZRER : 1.00[E 207, 400. 00 207, 400
S .6
B MESER 14y
% b R - KT B H = B O{f £ H %
FEHAR (F%E)
A 1.50 64, 800. 00 97, 200
HER (A)
A 2.50 57,000. 00 142, 500
HER (B)
A 2.50 47, 200. 00 118, 000
HER (C)
A 2.50 38, 400. 00 96, 000
& B 1E%8ERH : 1.00=C 453, 700. 00 453, 700
=1
2% . AFABRERIER 14y
% L] R - KT ==Rivi B = B @ %8 g &
HER (C)
A 0.50 38, 400. 00 19, 200
& B 1E%8ESN : 1.00=C 19, 200. 00 19, 200
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&5 .8
%5 . BATHE 1mEHY
£ b3 B - BIKTE =-Fiv] = B i ® 5 w =
F{EHRAm GRED
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57,000. 00 57,000
& Hi 1YEZRER : 1.00[E 121, 800. 00 121, 800
=9
&% hEEmE HEEP)
% b R - KT BT 2 B O{f ® £ H %
FEHAR (F%E)
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57,000. 00 57,000
& it 1EZ8EH : 1.00[E] 121, 800. 00 121, 800
&5 :10
27 REBE HEEP)
% b R - KT BT 2 B O{f ® £ H %
HEnE
A 1.00 75, 800. 00 75, 800
FEHAR (F%E)
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57,000. 00 57,000
& B YEZERES : 1.00[E 197, 600. 00 197, 600
=: 1
2% ERARE 1KY
% L] g - BIRTiE BT 2 i & E i =
EXARE
=® 1.00 45,914. 00 45,914
= B YE¥REH 1,00 45,914. 00 45,914
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KBE#EEETEICHESMITRENRREES

EF5:12
&% FERRE 1XEY
£ [ R - KT B = B {f £ w =
ZERRE
= 1.00 256, 362. 00 256, 362
& B 1EZRERN  1.00K 256, 362. 00 256, 362
&5 :13
&% EBHER 1XHY
4 b R - KT By £ B i £ H %
EBHRERE
= 1.00 61, 000. 00 61,000
& it 1E%8ERH : 1.00=C 61, 000. 00 61, 000
514
&% k& 14y
4 b R - KT By £ B i £ H %
i1
= 1.00 21,324.00 21,324
& B 1E%8ERH : 1.00=C 21,324.00 21, 324




